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Questions

1. The sum of the interior angles of a polygon

is five times the sum of its exterior angles.

Find the number of sides in the polygon.

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_pNbCEX5Jeszb


Watch Video Solution

2. One angle of an eight-sided polygon is 

and the other angles are equal. Find the

measure of each equal angle.

Watch Video Solution

100∘

3. In a pentagon ABCDE, AB is parallel to ED

and angle . Find the angles C and D,

if 

B = 140∘

∠C : ∠D = 5: 6

https://dl.doubtnut.com/l/_pNbCEX5Jeszb
https://dl.doubtnut.com/l/_3ykknLnfYTvY
https://dl.doubtnut.com/l/_CUioe2Yeonpt


Watch Video Solution

4. In the pentagon ABCDE, angle ,

angle B=  and angle D= angle E. The sides

AB and DC, when produced, meet at right

angle. Calculate angles BCD and E.

Watch Video Solution

A = 110∘

140∘

5. By dividing into triangles, find the sum of

the angles of the doubly re-entrant heptagon

ABCDEFG as shown alongside. Does the

https://dl.doubtnut.com/l/_CUioe2Yeonpt
https://dl.doubtnut.com/l/_qNLycZ0IBNjN
https://dl.doubtnut.com/l/_begZZ1FUx766


general value of  right-angles hold for

re-entrant polygon? 

Watch Video Solution

(2n − 4)

https://dl.doubtnut.com/l/_begZZ1FUx766


6. Each interior angle of a regular polygon is

. Find the interior angle of another

regular polygon whose number of sides is two-

thirds the number of sides of the given

polygon.

Watch Video Solution

160∘

7. If the difference between an exterior angle

of a regular polygon of 'n' sides and an

exterior angle of another regular polygon of

https://dl.doubtnut.com/l/_SNBgBP1kn5X5
https://dl.doubtnut.com/l/_DaeemOzwNyuI


 sides is equal to , find the value

of 'n'.

Watch Video Solution

' (n + 1)' 5∘

8. In the given figure, ABCD is a parallelogram.

Find the values of x, y and z 

Watch Video Solution

https://dl.doubtnut.com/l/_DaeemOzwNyuI
https://dl.doubtnut.com/l/_jmXfy6yaeKfa


9. The given figure shows a rhombus ABCD.

Find x and y 

Watch Video Solution

10. ABCD is a parallelogram and AP and CQ are

perpendiculars from vertices A and C on

https://dl.doubtnut.com/l/_jmXfy6yaeKfa
https://dl.doubtnut.com/l/_aRpqYa8tnxqe
https://dl.doubtnut.com/l/_uEMnIsx4DUlm


diagonal BD . Show that(i) 

(ii) 

Watch Video Solution

ΔAPB ≅ ΔCQD

AP   =  CQ

11. ABCD is a parallelogram and AP and CQ are

perpendiculars from vertices A and C on

diagonal BD . Show that(i) 

(ii) 

Watch Video Solution

ΔAPB ≅ ΔCQD

AP   =  CQ

https://dl.doubtnut.com/l/_uEMnIsx4DUlm
https://dl.doubtnut.com/l/_Ah4Tt8QP4Bsx


12. In the adjoining figure, ABCD and PBCQ are

parallelogram. Prove that: 

 


APQD is a parallelogram

Watch Video Solution

https://dl.doubtnut.com/l/_6H63V0qSmI5X


13. In the adjoining figure, ABCD and PBCQ are

parallelogram. Prove that: 

 


AP= DQ

Watch Video Solution

https://dl.doubtnut.com/l/_l8uDgmDC8pxa


14. In the adjoining figure, ABCD and PBCQ are

parallelogram. Prove that: 

 


Watch Video Solution

ΔABP ≅ΔDCQ

https://dl.doubtnut.com/l/_z6fpaJ4j0qi6


15. A transversal cuts two parallel lines PQ and

RS at points A and B respectively. The two

interior angles at A are bisected and so are

the two interior angles at B, the four bisectors

form a quadrilateral ACBD. Prove that: 

ACBD is a rectangle

Watch Video Solution

16. 
 is a rhombus, 
 is a straight

line such that 
 . Prove that 

ABCD EABF

EA = AB = BF

https://dl.doubtnut.com/l/_mHaHrKUQ1PHZ
https://dl.doubtnut.com/l/_aQByt6oafX40



 and 
 when produced meet at right

angles.

Watch Video Solution

ED FC

17. ABCD is a parallelogram E is mid-point of AB

and DE bisects angle D. Prove that 

 


BC= BE

https://dl.doubtnut.com/l/_aQByt6oafX40
https://dl.doubtnut.com/l/_nPgFP1cydi6M


Watch Video Solution

18. ABCD is a parallelogram E is mid-point of

AB and DE bisects angle D. Prove that 

 


CE bisects angle C

Watch Video Solution

https://dl.doubtnut.com/l/_nPgFP1cydi6M
https://dl.doubtnut.com/l/_b4hxSEaheStE


19. ABCD is a parallelogram E is mid-point of

AB and DE bisects angle D. Prove that 

 


Watch Video Solution

∠DEC = 90∘

20. The figure, given alongside, shows a

trapezium ABCD in which AB/DC and AD= BC.

https://dl.doubtnut.com/l/_RBbaI6MNOknB
https://dl.doubtnut.com/l/_bpaZDVFJD4tR


Prove that: 

 


Watch Video Solution

∠A = ∠B

21. The figure, given alongside, shows a

trapezium ABCD in which AB/DC and AD= BC.

Prove that: 

https://dl.doubtnut.com/l/_bpaZDVFJD4tR
https://dl.doubtnut.com/l/_njhqsmmBoUoc


 


Watch Video Solution

∠C = ∠D

22. The figure, given alongside, shows a

trapezium ABCD in which AB/DC and AD= BC.

Prove that: 

https://dl.doubtnut.com/l/_njhqsmmBoUoc
https://dl.doubtnut.com/l/_OPhx2M6ie2fP


 


Watch Video Solution

ΔABC ≅ΔBAD

23. The figure, given alongside, shows a

trapezium ABCD in which AB/DC and AD= BC.

Prove that: 

https://dl.doubtnut.com/l/_OPhx2M6ie2fP
https://dl.doubtnut.com/l/_58bBcs6WowFa


Exercise 14 A

 


Diagonal AC= diagonal BD

Watch Video Solution

1. The sum of the interior angles of a polygon

is four times the sum of its exterior angles.

https://dl.doubtnut.com/l/_58bBcs6WowFa
https://dl.doubtnut.com/l/_jmYbTO4mYswe


Find the number of sides in the polygon.

Watch Video Solution

2. The angles of a pentagon are in the ratio

. Find each angle of the pentagon.

Watch Video Solution

4: 8: 6: 4: 5

3. One angle of a six-sided polygon is  and

the other angles are equal. Find the measure

of each equal angle.

140∘

https://dl.doubtnut.com/l/_jmYbTO4mYswe
https://dl.doubtnut.com/l/_SvrpBWWw3yaW
https://dl.doubtnut.com/l/_3L6hCIEb6a96


Watch Video Solution

4. In a polygon, there are 5 right angles and

the remaining angles are equal to  each.

Find the number of sides in the polygon.

Watch Video Solution

195∘

5. Three angles of a seven sided polygon are

 each and the remaining four angles are

equal . Find the value of each equal angle.

132∘

https://dl.doubtnut.com/l/_3L6hCIEb6a96
https://dl.doubtnut.com/l/_8SFbKlA600ja
https://dl.doubtnut.com/l/_4rolvSsR5suH


Watch Video Solution

6. Two angles of an eight sided polygon are

. If the remaining angles are

equal to each other, find the magnitude of

each of the equal angles.

Watch Video Solution

142∘ and 176∘

7. In a pentagon ABCDE, AB is parallel to DC

and . Find angle E.

Watch Video Solution

∠A : ∠E : ∠D = 3: 4: 5

https://dl.doubtnut.com/l/_4rolvSsR5suH
https://dl.doubtnut.com/l/_ZmyYRYtpDYct
https://dl.doubtnut.com/l/_s9TbHifdKCZ5


8. AB, BC and CD are the three consecutive

sides of a regular polygon. If ,

find, 

each exterior angle of the polygon

Watch Video Solution

∠BAC = 15∘

9. AB, BC and CD are the three consecutive

sides of a regular polygon. If ,∠BAC = 15∘

https://dl.doubtnut.com/l/_s9TbHifdKCZ5
https://dl.doubtnut.com/l/_haRYfUUY3gD5
https://dl.doubtnut.com/l/_g9I3MmAvU8rF


find, 

each exterior angle of the polygon

Watch Video Solution

10. AB, BC and CD are the three consecutive

sides of a regular polygon. If ,

find, 

number of sides of the polygon

Watch Video Solution

∠BAC = 15∘

https://dl.doubtnut.com/l/_g9I3MmAvU8rF
https://dl.doubtnut.com/l/_nMd0jrICWKjS


11. The ratio between an exterior angle and an

interior angle of a regular polygon is 2 : 3. Find

the number of sides in the polygon.

Watch Video Solution

12. The difference between an exterior angle of

 sided regular polygon and an exterior

angle of  sided regular polygon is .

Find the value of n

Watch Video Solution

(n − 1)

(n + 2) 6∘

https://dl.doubtnut.com/l/_OR1WVUcoKD2B
https://dl.doubtnut.com/l/_HqvNiAmJAAxU


13. Two alternate sides of a regular polygon,

when produced, meet at right angle. Find: 

the value of each exterior angle of the

polygon.

Watch Video Solution

14. Two alternate sides of a regular polygon,

when produced, meet at right angle. Calculate

the number of sides in the polygon.

Watch Video Solution

https://dl.doubtnut.com/l/_HqvNiAmJAAxU
https://dl.doubtnut.com/l/_vA4M6iVNSkL4
https://dl.doubtnut.com/l/_m8INscthXtBm


Exercise 14 B True False

1. The diagonals of a rectangle bisect each

other

Watch Video Solution

2. State 'True' or 'False' 

The diagonals of a quadrilateral bisect each

other

https://dl.doubtnut.com/l/_m8INscthXtBm
https://dl.doubtnut.com/l/_WsG8UWdBvJS1
https://dl.doubtnut.com/l/_FN4Zcbo3UnuH


Watch Video Solution

3. The diagonals of a parallelogram bisect each

other.

Watch Video Solution

4. Each diagonal of a rhombus bisects it.

Watch Video Solution

https://dl.doubtnut.com/l/_FN4Zcbo3UnuH
https://dl.doubtnut.com/l/_ytwB6u76fpKQ
https://dl.doubtnut.com/l/_ZXHryPyNF6zA


5. The quadrilateral, whose four sides are

equal, is a square

Watch Video Solution

6. Which of the following statements are true

and which are false ? 

Every rhombus is a parallelogram.

Watch Video Solution

https://dl.doubtnut.com/l/_5Ve2Cveyh1fx
https://dl.doubtnut.com/l/_zveNcsS2Nt0z


7. State True or False

Every parallelogram is a rhombus

Watch Video Solution

8. Diagonals of a rhombus are equal.

Watch Video Solution

9. State True or False

If two adjacent sides of a parallelogram are

https://dl.doubtnut.com/l/_uR5RGS7SqYOt
https://dl.doubtnut.com/l/_N2IsInWHhI7f
https://dl.doubtnut.com/l/_egCgnkbpVuTJ


Exercise 14 B

equal, it is a rhombus

Watch Video Solution

10. State True or False

If the diagonals of a quadrilateral bisect each

other at right angle, the quadrilateral is a

square.

Watch Video Solution

https://dl.doubtnut.com/l/_egCgnkbpVuTJ
https://dl.doubtnut.com/l/_4qaRWfDfFvzJ
https://dl.doubtnut.com/l/_UvkvGQPe1K7e


1. In the figure, given below, AM bisects angle A

and DM bisects angle D of parallelogram ABCD.

Prove that:  


Watch Video Solution

∠AMD = 90∘

https://dl.doubtnut.com/l/_UvkvGQPe1K7e


2. In the following figure, AE and BC are equal

and parallel and the three sides AB, CD and DE

are equal to one another. If angle A is .

Find angles AEC and BCD 

Watch Video Solution

102∘

https://dl.doubtnut.com/l/_ep0l8DLvsbM0


3. In a square ABCD, diagonals meet at O. P is a

point on BC, such that OB= BP. Show that: 

Watch Video Solution

∠POC = (22 )
∘1

2

4. In a square ABCD, diagonals meet at O. P is a

point on BC, such that OB= BP. Show that: 

Watch Video Solution

∠BDC = 2∠POC

https://dl.doubtnut.com/l/_TgGVoNU7LICb
https://dl.doubtnut.com/l/_Dv29jacyhdDK
https://dl.doubtnut.com/l/_xWCWuwsn33Zh


5. In a square ABCD, diagonals meet at O. P is a

point on BC, such that OB= BP. Show that: 

Watch Video Solution

∠BOP = 3∠COP

6. The given figure shows a square ABCD and

an equilateral triangle ABP. Calculate: 

https://dl.doubtnut.com/l/_xWCWuwsn33Zh
https://dl.doubtnut.com/l/_HVzPbltZE6dc


 


Watch Video Solution

∠AOB

7. The given figure shows a square ABCD and

an equilateral triangle ABP. Calculate: 

https://dl.doubtnut.com/l/_HVzPbltZE6dc
https://dl.doubtnut.com/l/_u54MleFdHo0G


 


Watch Video Solution

∠BPC

8. The given figure shows a square ABCD and

an equilateral triangle ABP. Calculate: 

https://dl.doubtnut.com/l/_u54MleFdHo0G
https://dl.doubtnut.com/l/_mSsB050gRqPh


 


Watch Video Solution

∠PCD

9. The given figure shows a square ABCD and

an equilateral triangle ABP. Calculate: 

https://dl.doubtnut.com/l/_mSsB050gRqPh
https://dl.doubtnut.com/l/_5V51pTMfn8Oq


 


reflex 

Watch Video Solution

∠APC

10. In the given figure, ABCD is a rhombus with

angle  
A = 67∘

https://dl.doubtnut.com/l/_5V51pTMfn8Oq
https://dl.doubtnut.com/l/_jIeQIuU66FmR


 


If DEC is an equilateral triangle, calculate: 

Watch Video Solution

∠CBE

11. In the given figure, ABCD is a rhombus with

angle  
A = 67∘

https://dl.doubtnut.com/l/_jIeQIuU66FmR
https://dl.doubtnut.com/l/_JnFIZRUktEz1


 


If DEC is an equilateral triangle, calculate: 

Watch Video Solution

∠DBE

12. In each of the following figures, ABCD is a

parallelogram 

https://dl.doubtnut.com/l/_JnFIZRUktEz1
https://dl.doubtnut.com/l/_5yfkvPXirYaa


 


In each case, given above, find the values of x

and y

Watch Video Solution

13. In each of the following figures, ABCD is a

parallelogram 

https://dl.doubtnut.com/l/_5yfkvPXirYaa
https://dl.doubtnut.com/l/_kuoqohXx5CZz


 


In each case, given above, find the values of x

and y

Watch Video Solution

14. The angles of a quadrilateral are in the

ratio . Show that the quadrilateral is a

trapezium.

Watch Video Solution

3: 4: 5: 6

https://dl.doubtnut.com/l/_kuoqohXx5CZz
https://dl.doubtnut.com/l/_gybhe9GUdUTU


15. In a parallelogram ABCD, AB= 20 cm and

AD= 12cm. The bisector of angle A meets DC at

E and BC produced at F. Find the length of CF.

Watch Video Solution

16. In parallelogram ABCD, AP and AQ are

perpendiculars from vertex of obtuse angle A

as shown. If , find the angles of∠x : ∠y = 2: 1

https://dl.doubtnut.com/l/_gybhe9GUdUTU
https://dl.doubtnut.com/l/_QfWPL4quyUFI
https://dl.doubtnut.com/l/_7hQH7yeunhGU


Exercise 14 C

the parallelogram. 

Watch Video Solution

1. E is the mid-point of side AB and F is the mid

point of side DC of parallelogram ABCD . Prove

https://dl.doubtnut.com/l/_7hQH7yeunhGU
https://dl.doubtnut.com/l/_s2wbo4aZzxer


that AEFD is a parallelogram.

Watch Video Solution

2. The diagonal BD of a parallelogram ABCD

bisects angles B and D. Prove that ABCD is a

rhombus.

Watch Video Solution

3. The alongside figure shows a parallelogram

ABCD in which AE= EF= FC. 

https://dl.doubtnut.com/l/_s2wbo4aZzxer
https://dl.doubtnut.com/l/_fNFhwvMzvhCU
https://dl.doubtnut.com/l/_kNwo7Cdlw1s5


 

Prove that: 

DE is parallel to FB

Watch Video Solution

4. The alongside figure shows a parallelogram

ABCD in which AE= EF= FC. 

 

Prove that: 

DE= FB

Watch Video Solution

https://dl.doubtnut.com/l/_kNwo7Cdlw1s5
https://dl.doubtnut.com/l/_wrwFkuyiGWBb


5. The alongside figure shows a parallelogram

ABCD in which AE= EF= FC. 

 

Prove that: 

DEBF is a parallelogram

Watch Video Solution

6. In the alongside figure, ABCD is a

parallelogram in which AP bisects angle A and

BQ bisects angel B. Prove that: 

https://dl.doubtnut.com/l/_wrwFkuyiGWBb
https://dl.doubtnut.com/l/_B7wBEeL3lesc
https://dl.doubtnut.com/l/_enLDA9Tv8EZf


 

ABPQ is a parallelogram

Watch Video Solution

7. In the alongside figure, ABCD is a

parallelogram in which AP bisects angle A and

BQ bisects angel B. Prove that: 

 

ABPQ is a parallelogram

Watch Video Solution

https://dl.doubtnut.com/l/_enLDA9Tv8EZf
https://dl.doubtnut.com/l/_ijtCeG8bl7yy
https://dl.doubtnut.com/l/_VdGbIskDz1tf


8. In the alongside figure, ABCD is a

parallelogram in which AP bisects angle A and

BQ bisects angel B. Prove that: 

 

ABPQ is a parallelogram

Watch Video Solution

9. In the given figure, ABCD is a parallelogram.

Prove that: AB= 2BC 

Watch Video Solution

https://dl.doubtnut.com/l/_VdGbIskDz1tf
https://dl.doubtnut.com/l/_5mQ3CgsLEWeY


10. Prove that the bisectors of opposite angles

of a parallelogram are parallel.

Watch Video Solution

11. The bisectors of the
 angle of a

parallelogram enclose a
 parallelogram (b)

rhombus
rectangle (d) square

Watch Video Solution

https://dl.doubtnut.com/l/_5mQ3CgsLEWeY
https://dl.doubtnut.com/l/_NMgryQBb2Vp3
https://dl.doubtnut.com/l/_v9yKgUCbSg3z
https://dl.doubtnut.com/l/_iNI04cRq7eBl


12. Prove that the bisectors of the interior

angles of a rectangle form a square.

Watch Video Solution

13. In parallelogram ABCD, the bisector of

angle A meets DC at P and AB= 2AD. Prove that:

BP bisects angle B

Watch Video Solution

https://dl.doubtnut.com/l/_iNI04cRq7eBl
https://dl.doubtnut.com/l/_9kRr8YUeigSq


14. In parallelogram ABCD, the bisector of

angle A meets DC at P and AB= 2AD. Prove that:

Angle APB= 

Watch Video Solution

90∘

15. Points M and N are taken on the diagonal

AC of a parallelogram ABCD such that AM= CN.

Prove that BMDN is a parallelogram.

Watch Video Solution

https://dl.doubtnut.com/l/_zAOZlvhVPmk7
https://dl.doubtnut.com/l/_rLhXeJk8Z21k
https://dl.doubtnut.com/l/_1NE2NM3Uiipj


16. In the following figure, ABCD is a

parallelogram. Prove that: 

 

AP bisects angle A

Watch Video Solution

17. In the following figure, ABCD is a

parallelogram. Prove that: 

https://dl.doubtnut.com/l/_1NE2NM3Uiipj
https://dl.doubtnut.com/l/_NJXCIEhl4K46





BP bisects angle B

Watch Video Solution

18. In the following figure, ABCD is a

parallelogram. Prove that: 

https://dl.doubtnut.com/l/_NJXCIEhl4K46
https://dl.doubtnut.com/l/_RGboo8TKfAlK





Watch Video Solution

∠DAP + ∠CBP = ∠APB

19. ABCD is a square. A is joined to a point P on

BC and D is joined to a point Q on AB. If AP =

DQ, prove that AP and DQ are perpendicular to

each other.

Watch Video Solution

https://dl.doubtnut.com/l/_RGboo8TKfAlK
https://dl.doubtnut.com/l/_fEy1j2QbfPlB


20. In a quadrilateral ABCD, AB= AD and CB= CD.

Prove that: 

AC bisects angle BAD

Watch Video Solution

21. In a quadrilateral ABCD, AB= AD and CB= CD.

Prove that: 

AC is perpendicular bisector of BD

Watch Video Solution

https://dl.doubtnut.com/l/_fEy1j2QbfPlB
https://dl.doubtnut.com/l/_7Lopcim307Li
https://dl.doubtnut.com/l/_8nLTX6oHHAtE


22. The following figure shows a trapezium

ABCD in which AB is parallel to DC and AD= BC 




Prove that: 

Watch Video Solution

∠DAB = ∠CBA

https://dl.doubtnut.com/l/_8nLTX6oHHAtE
https://dl.doubtnut.com/l/_y9LYAQTQsyYx
https://dl.doubtnut.com/l/_moHHmRH739yu


23. The following figure shows a trapezium

ABCD in which AB is parallel to DC and AD= BC 

 


Prove that: 

Watch Video Solution

∠ADC = ∠BCD

https://dl.doubtnut.com/l/_moHHmRH739yu


24. The following figure shows a trapezium

ABCD in which AB is parallel to DC and AD= BC 

 


Prove that: 

OA = OB and OC= OD

Watch Video Solution

https://dl.doubtnut.com/l/_JBhTfoGV1BlD


25. In a parallelogram, prove that the bisectors

of any two consecutive angles
 intersect at

right angle.

Watch Video Solution

26. Prove that the bisectors of opposite angles

of a parallelogram are parallel.

Watch Video Solution

https://dl.doubtnut.com/l/_bd0MRUTKdApW
https://dl.doubtnut.com/l/_7Ig74pvWJ8fc


27. The diagonals of a rectangle intersect each

other at right angles. Prove that the rectangle

is a square.

Watch Video Solution

28. In the following figure, ABCD and PQRS are

two parallelogram such that

. Find the value

of x. 

∠D = 120∘ and ∠Q = 70∘

https://dl.doubtnut.com/l/_bEBrMgZe0pjm
https://dl.doubtnut.com/l/_KlwGLOddlplR


Polygons 3 Marks Questions

Watch Video Solution

1. The sum of interior angles of a regular

polygon is twice the sum of its exterior angles.

Find the number of sides of the polygon.

Watch Video Solution

2. The interior angles of a pentagon are in the

ratio 4:5:6:7:5. Find each angle of the

https://dl.doubtnut.com/l/_KlwGLOddlplR
https://dl.doubtnut.com/l/_Ui3QoCPUXjDw
https://dl.doubtnut.com/l/_0eLM4rBEuT4c


pentagon.

Watch Video Solution

3. In a polygon, there are 5 right angles and

the remaining angles are equal to  each.

Find the number of sides in the polygon.

Watch Video Solution

195∘

4. Two angles of an eight sided polygon are

. If the remaining angles are142∘ and 176∘

https://dl.doubtnut.com/l/_0eLM4rBEuT4c
https://dl.doubtnut.com/l/_WBTj8gQv7cpk
https://dl.doubtnut.com/l/_0IVTMtteu4nk


equal to each other, find the magnitude of

each of the equal angles.

Watch Video Solution

5. Each interior angle of a regular polygon is

. Find : 


(i) the measure of each exterior angle 

(ii) number of sides of the polygon 

(iii) name of polygon

Watch Video Solution

135∘

https://dl.doubtnut.com/l/_0IVTMtteu4nk
https://dl.doubtnut.com/l/_sXolxrcrBLvJ


Polygons 4 Marks Questions

1. In a pentagon ABCDE, AB is parallel to DC

and . Find angle E.

Watch Video Solution

∠A : ∠E : ∠D = 3: 4: 5

2. AB, BC and DC are the three consecutive

sides of a regular polygon. If ,

find : 

(i) each interior angle of the polygon. 

∠BAC = 15∘

https://dl.doubtnut.com/l/_AGp0Wr5R4DGc
https://dl.doubtnut.com/l/_OcCiKhI2r4Tw


(ii) each exterior angle of the polygon. 

(iii) number of sides of the polygon.

Watch Video Solution

3. The ratio between an exterior angle and an

interior angle of a regular polygon is 2 : 3. Find

the number of sides in the polygon.

Watch Video Solution

https://dl.doubtnut.com/l/_OcCiKhI2r4Tw
https://dl.doubtnut.com/l/_rW0KukKIJ1b5


Quadrilaterals And Its Properties 3 Marks

Questions

4. The difference between an exterior angle of

 sided regular polygon and an exterior

angle of  sided regular polygon is .

Find the value of n

Watch Video Solution

(n − 1)

(n + 2) 6∘

1. In the following figure, AE and BC are equal

and parallel and the three sides AB, CD and DE

https://dl.doubtnut.com/l/_mR8HlpWnmHhu
https://dl.doubtnut.com/l/_J5U63H400fdg


are equal to one another. If angle A is .

Find angles AEC and BCD 

Watch Video Solution

102∘

2. The angles of a quadrilateral are in the ratio

. Show that the quadrilateral is a

trapezium.

h id l i

3: 4: 5: 6

https://dl.doubtnut.com/l/_J5U63H400fdg
https://dl.doubtnut.com/l/_p2SsNsQMjNKw


Watch Video Solution

3. In parallelogram ABCD, AP and AQ are

perpendiculars from vertex of obtuse angle A

as shown. If , find the angles of

the parallelogram. 

Watch Video Solution

∠x : ∠y = 2: 1

https://dl.doubtnut.com/l/_p2SsNsQMjNKw
https://dl.doubtnut.com/l/_GzrIesIX4pjv
https://dl.doubtnut.com/l/_AAMZ67iSgopF


4. The diagonal BD of a parallelogram ABCD

bisects angles B and D. Prove that ABCD is a

rhombus.

Watch Video Solution

5. Points M and N are taken on the diagonal

AC of a parallelogram ABCD such that AM= CN.

Prove that BMDN is a parallelogram.

Watch Video Solution

https://dl.doubtnut.com/l/_AAMZ67iSgopF
https://dl.doubtnut.com/l/_Hq6eOszndP1G


6. The diagonals of a rectangle intersect each

other at right angles. Prove that the rectangle

is a square.

Watch Video Solution

7. The opposite angles of a parallelogram are

equal.

Watch Video Solution

https://dl.doubtnut.com/l/_9FC6DXEMKX3t
https://dl.doubtnut.com/l/_H1pJuyFUSTgk


8. ABCD is a parallelogram in which

. Bisector of 

meets CD at P. Prove that : 




(i) AD = DP 

(ii) CP = CB 

(iii) DC = 2AD

Watch Video Solution

∠DAB = 80∘ ∠A and ∠B

https://dl.doubtnut.com/l/_6bzlBWtNFzdm


Quadrilaterals And Its Properties 4 Marks

Questions

1. The given figure shows a square ABCD and

an equilateral triangle ABP. 

 


Calculate : 

(i)  ∠AOB

https://dl.doubtnut.com/l/_JJCSIyDYWtV8


(ii)  


(iii)  


(iv) reflex 

Watch Video Solution

∠BPC

∠PCD

∠APC

2. In the given figure, ABCD is a rhombus with

angle A = . 
67∘

https://dl.doubtnut.com/l/_JJCSIyDYWtV8
https://dl.doubtnut.com/l/_iX8YTNek8KEX


 


If DEC is an equilateral triangle. Calculate : 

(i) 

Watch Video Solution

∠CBE    (ii) ∠DBE

https://dl.doubtnut.com/l/_iX8YTNek8KEX


3. The along side figure shows a parallelogram

ABCD in which AE = EF = FC. 

 


Prove that : 

(i) DE is parallel to FB 

(ii) DE = FB 

(iii) DEBF is a parallelogram

Watch Video Solution

https://dl.doubtnut.com/l/_CVyV8OJF0ds5


4. The bisectors of the
 angle of a

parallelogram enclose a
 parallelogram (b)

rhombus
rectangle (d) square

Watch Video Solution

5. In parallelogram ABCD, the bisector of angle

A meets DC at P and AB = 2AD. 

Prove that : 

(i) BP bisects angle B. 

(ii) Angle APB = 90∘

https://dl.doubtnut.com/l/_CVyV8OJF0ds5
https://dl.doubtnut.com/l/_HH6mT5dCs8Q5
https://dl.doubtnut.com/l/_t5UP1WWQFBRP


Watch Video Solution

6. In a quadrilateral ABCD, AB = AD and CB = CD.

Prove that : 

(i) AC bisects angle BAD 

(ii) AC is perpendicular bisector of BD.

Watch Video Solution

7. The following figure shows a trapezium

ABCD in which AB is parallel to DC and AD = BC.

https://dl.doubtnut.com/l/_t5UP1WWQFBRP
https://dl.doubtnut.com/l/_Rf9ba7yctICp
https://dl.doubtnut.com/l/_d3DSGcwMLk7A


 


Prove that : 

(i)  


(ii)  


(iii) AC = BD 

(iv) OA = OB and OC = OD

Watch Video Solution

∠DAB = ∠CBA

∠ADC = ∠BCD

https://dl.doubtnut.com/l/_d3DSGcwMLk7A

